N
n[>nv @ @ fyra brak, decimaler, ordningsfoljd med parenteser

namn: Datum: Poéng:

3
12(5,5+7) +3%x2-5,2= 18+ﬂ§+2£)=

— = = 1

. — 3

2 3 1 1
20(=+3,5)+5x3+ - = +Z —

2 2 1
- —2,2)x3-3= 2,4x12+34+3(2—2)=
5 ) 379
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OO A

fyra brak, decimaler, ordningsfoljd med parenteser

namn:

3 224
12(5,5+ Z)+3X2_5,2: ?‘:

96
4(4,9-3,5)+2x5+5,2= = =

16
5,5x8+2—-33,4+5)= (—?)Z

2
20(5 3,5 +5x 3+

2 42 2
(5_292) x3-3= (_?): (_85)

Datum: Poang: _
44%1 5,8-|—5(§-|—2,8)=¥221%t
19% 3,7X12+3—4(4,2—%)=(—§)
(—3%) 8(%+2,4)+2><2+3,3=62—9=34%
2 Gordyes 112yl

2 1
2,4 x 12+3+3(§—§)= 11
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